MAJ[HSDIY

SOLMTIONS

]

AT

GCSE TOPIC BOOKLET
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1.a) Expand 5(x — 2).

=Sx-\0
(1)
b) Expand 4(x — 3).
= g;l . K
(1)
c) Expand 6(x — 5).
= bx -20
(1)
2.a) Expand and simplify 4(3x — 1) + 3(x — 5).
= L -4 +3x —\S
..................................... o R e
(2)
b) Expand the following expression, simplifying your answer as far as possible.
4(x —2) + 3(2x + 5).
........................................... o 5 et - e 2 5 il 1 W
SO .. ...\ .
(2)
c) Expand 2x(x? + 3).
2
= 2o 46
(2)
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3.a) Expand and simplify: 4(2y —3) — 3(y + 5)

=R/ =] ~ 2N -8

(2)

b) Expand x3(3x —5).

s Y- 2
= AnesnS

............................. Bl I . e S
(2)

4.a) Expand 5(x + 8).

= Sx +40

(1)

b) Expand x(x? + 7).

2
= X+ X

(2)

5.a) Expand and simplify: 4(x +5) — 3(2x — 4)

............................... = Mx 420 ~6x 412

wesmssssssssissos S ANV ......ocooeossssssss s
(2)

b) Expand 5y(2y? — 3).

3
=z 10Yy~=1I\S :

(2)
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6.a) Expand and simplify 4(2x + 3) — 3(x + 2).
= EX4+|1L -2x -6

....................................................................................................................................................
....................................................................................................................................................
R S i i b s

....................................................................................................................................................

b) Expand the following expression, simplifying your answer as far as possible.

3(4a — 2¢) — 2(2a + 4c).

....................................................................................................................................................

....................................................................................................................................................

7.a) Expand and simplify 3(2a —4) — 3(a — b).

...................................................................................................................................................

....................................................................................................................................................

b) Expand the following expression, simplifying your answer as far as possible.

3(4r — 25) — 2(r + 4s).
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